= AH O
N = 0 & AF & E Al A
2N NSHEY
Mz NESAMNM
Sl HEnEAEX (e dS)
2N -3 - c2(3H) - NEME - HES Ol & | 0l &K Hns
nEd 12,501,672 12,902,780 A401,108
= 148,050
z 800,000
< 939,711
Al 10,613,911
nsstAid 11,697,472 10,702,880 994,592
= 148,050
== 939,711
Al 10,609,711
HEWREALXH 11,697,472 10,702,880 994,592
= 148,050
< 939,711
Al 10,609,711
AMUHASSHX A 1,140,000 1,080,000 60,000
307 QIZ2to| A 1,140,000 1,080,000 60,000
09 2HHEEZ 1,140,000 1,080,000 60,000
QuSItE &0l & 2Iss 82
95,000,000 «12& 1,140,000
HAMMEXEZ 2,177,472 2,042,952 134,520
= 148,050
< 939,711
Al 1,089,711
307 GI2t0IH 2,077,472 2,042,952 34,520
= 148,050
< 939,711
Al 089,711
09 2LEHEXES 2,077,472 2,042,952 34,520
OHA THEXA(+2AY gle o)
1,731,372,0002 = 14! 1,731,372
== 865,686
Al 865,686
OMAHA 72(300) 98,700,000 *3CH 296,100
= 148,050
< 74,025
Al 74,025
O&XEX CHLHEN A XIHl X
1,000,000 *50CH 50,000
308 XX HHSOIH 100,000 0 100,000
05 XXSHHZ2ESS 100,000 0 100,000
ORorzs 2435 MEXNFS(EEE2)
100,000,000 * 1A/ 100,000
Mo 2AE2Y 380,000 211,000 169,000
307 QI2t0IA 300,000 171,000 129,000
02 QIZtAAEZX 300,000 171,000 129,000




FA: nSHEL
g nseFd
e HESuNSAIEXE (etel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Z S0 &k HusZ
OZoHe SXz 24l 2X(601)
50,000, 000& ~6CH 300,000
402 2Iz2tt=0ld 80,000 40,000 40,000
01 2IERIEE X 80,000 40,000 40,000
oZoiel 2xE 2 40,000, 000& »2CH 80,000
RSN g2 2X3 8,000,000 7,000,000 1,000,000
307 2120l & 8,000,000 7,000,000 1,000,000
09 2x=HAHEX= 8,000,000 7,000,000 1,000,000
ORZH HSEXZS(HA AL =)
8,000,000,000& * 14! 8,000,000
Hegs(nsadzyn) 800,000 2,193,900 21,393,900
= 800,000
WEHHXIE (L SHE D) 800,000 2,193,900 A 1,393,900
= 800,000
NSAMHEEH HE 800,000 2,193,900 1,393,900
= 800,000
701 JIEIRI AN ES 800,000 2,193,900 1,393,900
= 800,000
01 JIEt= AN ES 800,000 2,193,900 1,393,900
ONgolIEs+< JHE ALY 800,000,000 * 14! 800,000
= 800,000
HY2SZH(nSHE L) 4,200 6,000 A 1,800
Q2 (NS#E L) 4,200 6,000 A 1,800
2 (nS#E ) 4,200 6,000 A 1,800
203 AR =& 4,200 4,200 0
04 BEA2SYFFAH| 4,200 4,200 0
Ousdd 350,000& 128 4,200




